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ç'u la[;k 1 ls 5 ds fy;s %

v/ksfyf•r x|ka'k dks è;ku ls if<+, rFkk ç'u la[;k 1 
ls 5 ds mÙkj bl /kjk ds vk/kj ij nhft;sA

ekuo ds ikl leLr txr dks ns•us&ij•us ds nks utfj;s 
gS] ,d vk'kkoknh nwljk fujk'kkoknhA bls ldkjkRed vkSj 
udkjkRed n`f"V Hkh dgrs gSaA tks vk'kkoknh ;k ldkjkRed ekxZ 
ij pyrs gS] vkuUn dh vuqHkwfr çkIr djrs gSa fujk'kkoknh ;k 
udkjkRed n`f"V okys nq%• ds lkxj esa Mwcs jgrs gS vkSj lnk 
vius vkidks çLFkkfir djus ds fy;s rdZ fd;k djrs gSaA os Hkwy 
tkrs gSa fd rdZ vkSj dqrdZ ls Kku dk uk'k gksrk gS ,oa thou 
esa foÑfr mRiUu gksrh gSA vk'kkoknh dHkh rdZ ;gha djrk] 
iQyLoLo:i og vkUrfjd vkuUn dh çrhfr djrk gSA og ekurk 
gS fd vkfRed vkuUn dHkh çgkj ;k dkVus dh çfØ;k esa ugha 
gSA fdlh ijEijk dk fojks/ djus ls gh çfrHkk Åij ugha mBrhA 
fojks/ ls uk'k gksrk gSA blfy;s txr esa lnk vk'kkokn gh iuik 
gS] mluss gh egku O;fDr;ksa dk l`tu fd;k gSA fujk'kkokn ;k 
udkjkRedrk dh uhao ij dHkh dHkh thou&çlkn dk fuekZ.k 
ugha gqvkA

	 1- 	bl vorj.k dk loZFkk mi;qDr 'kh"kZd gks ldrk gS
	 (a)	 vk'kk vkSj fujk'kk

	 (b)	 thou vkSj vk'kkokn

	 (c)	 vk'kk gh thou gS

	 (d)	 vk'koknh vkSj fujk'kkoknh

	 2- 	ijaijk dk fojks/ djus ls çfrHkk ij mBrh dk vk'k; 
gS

	 (a)	 ijEijk O;fDr dks nfd;kuwlh cukrh gSA

	 (b)	 ijEijk dk fojks/ O;fDr dks izfrHkklaiUu curk 
gSA

	 (c) 	ijEijk dks Lohdkjus eas izfrHkk u"V ugha gksrhA

	 (d) 	ijEijk vkSj çfrHkk esa vU;ks;kfJr lEcU/ gSA

	 3- 	udkjkRedrk dk vk'k; gS
	 (a) 	fujk'kkokn

	 (b) 	Lohdk;Zrk

	 (c) 	ldkjkRedrk

	 (d) 	mi;ZqDr esa ls dksbZ ugha

	 4- 	fujk'kkoknh nq[k% ds lkxj eas Mwcs jgrs gS vkSj lnk vius 
vkidks çLFkkfir djus ds fy;s roZQ fd;k djrs gSa] ds 
fy;s dgk tk ldrk gS

	 (a) 	fujk'kk dq.Bk vkSj izopuk dh tuuh gSA

	 (b) 	fujk'kkoknh dk psgjk fpUrk dh js[kkvksa ls f?kjk 
jgrk gSA

	 (c) 	fujk'kkoknh O;fDr nwljs osQ vkuUn ls nq•h jgrs 
gSA

	 (d)	 mi;ZqDr lHkh okD; lgh gS

	 5- 	̂vkfRed vkuUn* ls vk'k; gS

	 (a) 	vkgykn	 (b)	 eu dh ekSt

	 (c) 	migkl	 (d)	vêðgkl

	 6-	fuEufyf•r O;tuksa esa ls dkSu&ls O;atu dk mPpkj.k 
rkyq ls gksrk gS\

	 (a) 	d	 (b)	<

	 (c) 	N	 (d)	e

	 7-	fuEufyf[kr esa ls ;g okD; NkafV,] ftlesa fozQ;k fo'ks"k.k 
dk ç;ksx fd;k x;k gSA

	 (a)	 ;gk¡ dSls&dSls yksx ,d=k gq;s gSA

	 (b) 	og 	dkyh xk; ?kkl pj jgh gSA

	 (c) 	eq>ls •êðk iQy ugha •k;k tkrkA

	 (d)	 rqe th tku yxkdj i<+ jgs gksA

	 8- 	,sls 'kCn mPpkj.k vkSj orZuh dh n`f"V ls leku gksa] ij 
O;qRifr rFkk vFkZ dh n`f"V ls fHkUu gksa __________
dgykrs gSaA

	 (a) 	i;kZokph 'kCn

	 (b) 	le:i ;k leksPpkfjr 'kCn

	 (c) 	foi;kZ; ;k foykse 'kCn

	 (d) 	mi;ZqDr esa ls dksbZ ugha

	 9- 	̂cPpk* 'kCn dk rRle :i gksrk gS

	 (a) 	cPp	 (b) 	ckyd

	 (c) 	oRl	 (d) 	cky

	10-	^vkH;arj* dk foykse gksrk gS

	 (a)	 ckg~; 	 (b) 	vUnj dk

	 (c) 	eè;	 (d) 	vHkh&vHkh

	11- 	̂jkepfjrekul* dh jpuk fdl Hkk"kk esa gqbZ gS

	 (a) 	[kM+h cksyh fgUnh 	 (b) 	cztHkk"kk

	 (c) 	vo/h	 (d) 	eSfFkyh

	12- 	fuEufyf•r okD;ksa ls 'kq¼ okD; lqfu,A

	 (a) 	 egkjfnokjh ds ikj ,d lqUnj bekjr gSA

	 (b) 	mijksDr okD; dk laKku ysaA

	 (c) 	f'k{k.ksrj deZpkjh vkt 'kke dks ,d g

	 (d) 	;g dk;Z vR;Uriw.kZ

	 13- 	fuEufyf•r esa ls f•M+dh dk i;kZ;okph gS

	 (a)	 okrk;u	 (b)	 ckjh

	 (c) 	njhpk	 (d) 	mi;ZqDr lHkh

	14- 	fuEufyf•r esa ls v'kq¼ orZuh okyk 'kCn gS

	 (a) 	fuLlansg	 (b) 	fuLladksp

	 (c) 	mTtoy	 (d) 	egÙo
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	15- 	̂ekr`.kkEk~* dk 'kq¼ laf/&foPNsn gS

	 (a) 	 ekr $ ½.kke~ 	 (b)	ekr` $ ½.kke~

	 (c) 	ekr $ fj.kke~	 (d) 	ekrj $ b.kke~

	16- 	̂xeyk* vkSj ^vkyihu* fdl Hkk"kk ds 'kCn gS\

	 (a) 	Úsap	 (b) 	vaxzsth

	 (c) 	iqrZxkyh	 (d) 	tkikuh

	17-	^viuh djuh ikj mrjuh* dk vFkZ gS

	 (a)	 nwljs ds deZiQy dk Lo;a Hkh Hkqxruk iM+rk gSA

	 (b) 	vius deZ dk iQy Lo;a Hkksxuk iM+rk gSA

	 (c)	 deZ dk iQy vo'; feyrk gSA

	 (d)	 nwljs ds vPNs deks± dk vuqdj.k djuk pkfg;sA

	 23. 	The grave servant accompanying the traveller must 
have

	 (a)	 already visited the country of the travel
	 (b) 	 acquaintance with reputed persons 
	 (c) 	 undertaken sea voyages 
	 (d) 	 knowledge of keeping diaries
	 24.	 One should visit the counts of princes when the 

princes are 
	 (a)	 dinning with ambassadors
	 (b)	 listening to ambassadors
	 (c)	 instructing the ambassadors
	 (d) 	 talking to ambassadors
	 25. 	Who learns from travelling?
	 (a) 	 old persons
	 (b) 	 tutor 
	 (c) 	 young men
	 (d)	 grave servant
	 26.	 Choose the correct part of speech/word class of 

the word "interesting" in the following sentence. 
This book is interesting.

	 (a)	 auxiliary
	 (b) 	 adverb
	 (c) 	 adjective
	 (d) 	 noun
	 27. 	Fill in the blank in the given sentence by choosing 

the correct option. the clock, it is twenty minutes 
fast.

		  Put_________the clock, it is twenty minutes fast.
	 (a) 	 up 	 (b) 	down
	 (c)	 off 	 (d)	 back
	 28.	 Which of the following is wrongly spelt? 
	 (a)	 Hopeful	 (b) 	Truety
	 (c) 	 Wholly	 (d) 	Awful

	18-	^gein* fojkefpÉ dk dk ç;ksx gksrk gS

	 (a) 	okD; 	dks iwjk djus ds fy;s

	 (b) 	ladsr nsus ds fy;s

	 (c) 	vFkZ Li"V djus ds fy;s

	 (d) 	fy•us esa v{kj NwVus dk ladsr nsus ds fy;s

	19-	^vad* 'kCn dk vFkZ ugha gksrk gSA

	 (a) 	xksn	 (b)	fpgu

	 (c)	 la[;k	 (d)	vax

	20-	^ihrkacj* esa dkSu&lk lekl gS\

	 (a) 	f}xq	 (b) 	vO;;hHkko

	 (c) 	deZ/kj;	 (d) 	cgqczhfg

Instruction for Question Nos. 21 to 25.
Read the following passage carefully and answer 

the questions that follow:
Travel, in the younger sort, is a part of education; 

in the elder, a part of experience. He has travelfells into 
a country, before he hath some entrance into the language 
greth so school, and r to travel. That young men travel 
nder seme tutor or grave servant, I allow well, so that 
hebe mich a one that hath the language, and hath been 
in the coun before: whereby he may be able to tell them 
what things are worthy to be seen in the country. where 
they go, what acquaintances they are to seek. what 
exercises or discipline the place yield for else young 
shall go honded and look abroad linle sa nge thing, a sea 
voyages, where there is nothing to be seen but sky and 
sea, men should make duaries hot in land travel, where 
in so much is to be observal for the most part they omit 
it, as if chance were Pitter to be registered than 
observation; let dianes, therefore he brought in use The 
things to be seen and observed are, the courts of princes, 
especially when they give audience to ambassadors the 
courts of justice, while they sit and hear causes.
	 21.	 Who tells about the things to be seen in the country 

one is travelling?
	 (a)	 young men
	  (b)	 elder people 
	 (c)	 totor
	 (d)	 stranger
	 22 	What is NOT important for travelling in a country?
	 (a)	 knowledge of the language of that country
	 (b)	 diary
	 (c)	 company of a person who already knows the 

place 
	 (d)	 company of the family members
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	 (b)	 John looked at the Taj and exclaimed with 
surprise that it was very magnificent.

	 (c)	 John looked at the Taj and asked that how 
magnificent.

	 (d)	 None of the above
	 34.	 Choose the correct option 
		  This Pen is much _______ than that.
	 (a)	 cheaper
	 (b) 	 more cheaper
	 (c)	 the cheaper
	 (d) 	 cheapest
	 35.	 Select the word as an appropriate meaning for the 

given word "Vandal' from the following.
	 (a) 	 One who destroys works of art.
	 (b) 	 One who creates works of art.
	 (c) 	 One who does not mix freely with others
	 (d) 	 One who is present everywhere.
	 35.	 Change the given sentence into passive voice 

Everyone loves him
	 (a) 	 He is loved by all.
	 (b) 	 He loves everyone.
	 (c) 	 He was loved by everyone.
	 (d) 	 He is loved by everyone.

	 36.	 How many numbers from 11 to 50 are divisible by 
7 but NOT by 3?

	 (a)	 2	 (b)	 4
	 (c) 	 5 	 (d)	 6
	 37.	 A is richer than B. C is richer than A. D is richer 

than C, E is richest than all. If they are made to sit 
in the above degree of richest, who will have the 
central position?

	 (a) 	 A	 (b) 	B
	 (c) 	 D	 (d) 	C
	 38.	  In a Zoo, there are rabbits and pigeons. If heads 

are counted there are 200 in all and if legs are 
counted there are 580 in all. How many pigeons. 
are there in the Zoo?

	 (a)	 90	 (b)	 110
	 (c)	 121	 (d)	 130
	 39.	 In which of the following decision making style  

low tolerance for ambiguity is found?
	 (a)	 Analytical style
	 (b)	 Conceptual style
	 (c)	 Directive style
	 (d)	 None of the above

	 29.	 Change the following sentence into a simple 
sentence.

		  The Institution is as bad as it could be."
	 (a) 	 The Institute is thoroughly bad.
	 (b) 	 The Institute is so had that we cannot live.
	 (c) 	 The Institute is too bad to say anything.
	 (d) 	 The Institute is not only bad but also good.
	 30.	 Choose the correct meaning of the Phrase "Zero 

hour".
	 (a)	 12 O' clock at night.
	 (b)	 The hour when an operation begin
	 (c)	 The hour when the sun rises.
	 (d)	 The hour when the sun sets.
	 31.	 Correct the following expression. Both he as well 

as his son were present.
	 (a)	 Both, he and his son, was present
	 (b)	 Both of them he and his son were present.
	 (c)	 Both he and his son were present.
	 (d)	 Both he and his son has been present.
	 32. 	Find out the correct indirect narration of the 

following direct speech John looked at the Taj and 
said "How magnificent!"

	 (a)	 John looked at the Taj and told that how 
magnificent it is. 

	36-	11 ls 50 osQ chp fdruh la[;k,¡ ,slh gS tks 7 ls 
foHkkT; gS] ijarq ls foHkkT; ugha gSa\

	 (a) 	2	 (b) 	4
	 (c)	 5	 (d) 	6
	37-	A, B ls vehj gS] C, A ls vehj gS] D, C ls vehj 

gS] E lcls T;knk vehj gSaA vxj lHkh dks mijksDr 
vehj osQ ozQe esa cSBk;k tk;s rks fdldk LFkku eè; 
esa gksxk\

	 (a) 	A	 (b) 	B
	 (c)	 D	 (d) 	C
	38-	,d fpfM+;k?kj esa [kjxks'k vkSj dcwrj gSaA ;fn muosQ 

fljksa dh fxurh dh tkrh gS rks ;s oqQy 200 gSa vkSj 
;fn muosQ iSjksa dks fxuk tkrk gS rks budk ;ksx 580 gSA 
fpfM+;k?kj eas oqQy fdrus dcwrj gSaA

	 (a) 	 90	 (b) 	110
	 (c)	 121	 (d) 	130
	39-	fuEufyf[kr fu.kZ;u 'kSyh esa ls fdlesa vLi"Vrk osQ 

fy;s fuEurj lgu'khyrk ik;h tkrh gSA
	 (a)	 fo'ys"k.kkRed 'kSyh

	 (b) 	lEizR;kRed 'kSyh

	 (c)	 funsZ'kkRed 'kSyh

	 (b) 	mi;qZDr esa ls dksbZ ugha
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	40-	¶laizs"k.k vUr% fozQ;k osQ :i es¸ ifjizs{; osQ vuqlkj 
izfriqf"V

	 (a)	 dHkh bjknru ugha gksrh gSA

	 (b) 	lnSo bjknru gksrh gSA

	 (c)	 'kk;n gh dHkh ykHknk;d gksrh gSA

	 (b) 	dHkh dHkh xSjbjkru gksrh gSA

	41-	tfVy leL;kvksa dh fLFkfr esa lewg fu"iknu mPprj 
gksrk gSA

	 (a)	 osQanzho`Qr usVooZQ esa

	 (b) 	izfrcaf/r usVooZQ esa

	 (c)	 leL;ksUeq[k usVooZQ esa

	 (d) 	foosQanzho`Qr esa

	 42-	pozQo`f¼ C;kt ij tek dh x;h `12]000 dh /ujkf'k 
5 o"kZ esa nqxquh gks tkrh gSA 20 o"kZ ckn] ;g /ujkf'k 
gksxh

	 (a)	 `96]000	 (b) 	̀1]20]000

	 (c)	 `1]24]000	 (d) 	̀1]92]000

	43-	vU; ls fHkUUk dks pqfu,A

	 (a)	 BD 6	 (b) 	FH 14

	 (c)	 JL 22	 (d) 	NP 33

	44-	izHkkoh laizs"k.k esa vojks/d D;k gS\

	 (a)	 uhfrizopu] fu.kZ;ijd gksuk vkSj lkaRouk iznk;h 
fVIif.k;k¡

	 (b) 	laokn] lkjka'k vkSj vkRe leh{kk

	 (c)	 ljy 'kCnksa dk iz;ksx] 'kkar izfrfozQ;k vkSj j{kkRed 
vfHko`fÙk

	 (d) 	oS;fDrd dFku] utj feykuk vkSj ljy o.kZu

	45-	,d ,slk lkewfgd ç;kl tks oSdfYid fopkj mRiUu 
dj ,d çca/d dks leL;k dk lek/ku djus esa lgk;rk 
gS- dgykrk gS

	 (a) 	MsYiQh rduhd 	 (b) 	<jsZa ls vyx fpUru

	 (c) 	ukfed lewg rduhd	 (d)	 cq¼;ksÙkstd

	46-	bl dFku ;k fopkj dhft,

		 D;k oSKkfud /eZ esa fo'okl djrs gS\

	 I- 	gk¡] 	D;ksafd foKku] ,d O;olk; gS tks vkLFkk 
ds jkLrs esa ugha vkrkA

	 II- 	ugha] D;ksafd roZQ ,oa vkLFkk nksukas ,d lkFk ugha 
vkrsA

		 dwV%

	 (a) 	osQoy I	 (b) 	osQoy II

	 (c)	 I rFkk II nksuksa	 (d)	 ;k rks I vFkok II

	 40. 	According to "communication as interaction" 
perspective, feedback is

	 (a)	 never intentional.
	 (b)	 always intentional.
	 (c)	 seldom useful.
	 (d)	 sometimes unintentional.
	 41.	 In case of complex problems group performance  

higher in 
	 (a)	 Centralized network
	 (b)	 Restricted network
	 (c)	 Problem oriented network
	 (d)	 Decentralized network
	 42. 	A sum of 12,000 deposited at compound interest 

becomes double after 5 years. After 20 years, it 
will become

	 (a)	 `96,000	 (b) 	`1,20,000
	 (c)	 `1,24,000	 (d) 	`1,92,000
	 43.	 Choose the odd one out.
	 (a) 	 BD6	 (b) 	FH 14
	 (c) 	 JL 22	 (d)	 NP 31
	 44. 	What are the barriers to effective communication? 
	 (a)	 Moralising, being judgemental and 

comments of consolation
	 (b)	 Dialogue, summary and self review 
	 (c)	 U	se of simple words, cool reaction and 

defensive attitude
	 (d)	 Personal statements, eye contact and simple 

narration
	 45.	 A group effort of generating alternative ideas that 

can help a manager solve a problem is called
	 (a) 	 The Delphi technique
	 (b)	 Out of the box thinking
	 (c)	 The nominal group technique
	 (d)	 Brainstorming
	 46. 	Consider the statement:
		  Do Scientists believe in religion"
	 I. 	 Yes, because science, a profession, does not 

come in the way of faith.
	  II.	 No, because reason and laith do not go 

together.
		  Codes:
	 (a)	 Only I 
	 (b)	 Only II
	 (c)	 Both I and II 
	 (d) 	 Earlier I or II
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	47-	vxj ROSE dks 6821 tSlk dksM gS] CHAIR dks 
dksM 734500 gS vkSj PRECH dk dksM 96143 gS] 
rks SEARCH dk dk D;k gksxk\

	 (a) 	 214673	 (b) 	214763
	 (c)	 264173	 (d)	 216473
	48-	tuizokg (xzsIokbu) dh fuEufyf•r esa ls dkSu&lh ugha 

gS\
	 (a)	 blesa fdlh Hkh fn'kk esa tkus dh NwV gksrh gSA

	 (b)	 ;g lewg lnL;ksa dh lkekftd vko';drkvksa 
dks larq"V djus dks mír gksrk gSA

	 (c) 	;g çca/u }kjk fu;af=kr gksrk gSA
	 (d)	 ;g blesa 'kkfey yksxksa ds Lo&fgrksa dks iwjk djus 

ds fy;s O;kid :i ls ç;qDr gksrk gSA

	49-	vkeus&lkeus ds lEçs"k.k dk lanHkZ gksrk gS
	 (a)	 vk|iz:i

	 (b) 	ledkfyd

	 (c) 	vrqY;dkfyd

	 (d) 	ledkfyd vkSj vrqY;dkfyd nksuksa

	 50-	;fn
		 A HkkbZ gS B dk
		 C firk gS A dk
		 D HkkbZ gS E dk
		  E iq=kh gS] B dh
		 rks] D dk pkpk dkSu gS\
	 (a) 	 A 	 (b) 	B
	 (c)	  C	 (d)	 E
	51-	1 tuojh 1995 dks jfookj FkkA rks 1 tuojh 1996 

dks dkSu&lk fnu Fkk\
	 (a) 	jfookj	 (b) 	lkseokj 
	 (c) 	cq/okj	 (d) 	'kfuokj
	 52.	 v/ksfyf[kr esa ls dkSu&lk dFku lgh ugha gS\
	 (a)	 lHkh euq"; ej.k'khy gSaA
	 (b) 	oqQN gkfFk;ksa osQ lw¡M gksrh gSA
	 (c) 	dksbZ euq"; iw.kZ ugha gSA

	 (d) 	lHkh xqykc yky gSaA
	53-	vU; la[;kvksa ls fHkUu la[;k dks pqfu;sA
	 (a)	 27	 (b)	 64
	 (c) 	 125	 (d) 	144
	54-	fdlh lewg ;k laxBu esa lEisz"k.k osQ izeq[k izdk;ksZa osQ 

ckjs esa fuEufyf[kr dFkuksa ij fopkj dhft;sA
	 1- 	;g lnL;ksa ds O;ogkj dks fu;af=kr djrk gSA

	 2- 	;k vfHkçsj.kk dks c<+kok nsrk gSA

	 3- 	;g Hkkoukvksa dks laosxkRed vfHkO;fDr dk 
volj çnku djrk gSA

	 47. 	If ROSE IN coded as 6821. CHAIR coded s 73456 
and PRECH is coded as 96143, what will be the 
code for SEARCH?

	 (a)	 214673	 (b)	 214763
	 (c)	 264173	 (d)	 216473
	 48.	 Which of the following does NOT characterize 

grapevine?
	 (a)	 There is freedom to move in any direction 
	 (b)	 It is likely to satisty group members social 

needs
	 (c)	 It is controlled by management
	 (d)	 It is largely used to serve the self interests 

of people in it.
	 49.	 The context of face-to-face communication is
	 (a)	 Archetypes 	
	 (b)	 Synchronous
	 (c)	 Asynchronous
	 (d)	 Both synchronous and asynchronous
	 50.	  Given that
		  A is the Brother of B
		  C is the Father of A
		  D is the Brother of E
		  E is the Daughter of B
		  Then, the uncle of D is
	 (a)	 A	 (b)	 B
	 (c)	 C	 (d)	 E
	 51.	 1 January 1995 was Sunday. What day it was on 

1 January 1996 ?
	 (a) 	 Sunday	 (b)	 Monday
	 (c) 	 Wednesday	 (d)	 Saturday
	 52.	 Which of the following statement is NOT correct?
	 (a) 	 All men are mortal.
	 (b) 	 Some elephants have trunk.
	 (e) 	 No man is perfect.
	 (d)	 All roses are red.
	 53.	  Choose the number which is different from others.
	 (a) 	 27	 (b) 	64
	 (c) 	 125	  (d) 	144
	 54.	 Consider the following statements regarding major 

function/functions of communication within a 
group or organization.

	 1.	 It acts of control member behaviour.
	 2.	 fosters motivation.
	 3.	 It provides emotional expression of feelings
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	 4- 	;g fu.kZ; ysus dks lgu cukrk gSA 

		 fuEufyf[kr dwV dk mi;ksx djrs gq, lgh mÙkj pqfu;s%
owQV%

	 (a)	 dsoy 3 	 (b)	2] 3 rFkk 4
	 (c)	 2 rFkk 3 	 (d)	1] 2] 3 rFkk 4
	 55.	 ;fn fdlh fuf'pr dksM esa COMPUTER dks 

BNLOTSDQ fy[kk tkrk gS] rks fuEufyf•r esa ls 
fdl dksM dks SOFTWARE ds fy;s fy•k tk;sxk\ 

	 (a)	 RNESVBQD	 (b) 	RNESABQD
	 (c) 	 RNESABOD	 (d) 	RNESVZQD
	56- 	mls pqfu;s tks vU; rhu ls fHkUu gSA
	 (a)	 398	 (b) 	579
	 (c) 	 885	 (d) 	696
	57-	varoS;fDrd lEizs"k.k dk ,d vU; uke gS
	 (a)	 tu lEçs"k.k 	 (b)	f}d lEis"k.k

	 (c)	 =k;kRed lEçs"k.k 	 (d)	 vuqKkRed lEisz"k.k

	58-	varoS;fDrd lEçs"k.k esa Ïksr çked ds çdk;Z fuHkk;s 
tkrs gSa

	 (a) 	nwljs O;fDr ds }kjk	 (b)	çR;sd O;fDr ds }kjk

	 (c) 	rhljs i{k ds }kjk 	 (d) 	rVLFk i{k ds }kjk

	59-	,d ekrk viuh csVh ls 4 xquk c<+h gS vkSj firk viuh 
csVh ls 5 xquk c<+s gSaA ekrk ,oa firk ds mez dk ;ksx 
135 o"kZ gSA csVh dh mez D;k gS\

	 (a) 	10 o"kZ 	 (d)	15 o"kZ
	 (c) 	20 o"kZ 	 (c) 	25 o"kZ
	60-	jaxksa ls laçs"k.k ds fy;s fdl 'kCn dk ç;ksx fd;k tkrk 

gS\
	 (a)	 j¡xfo|k	 (b) 	,djax vuqlwph

	 (c) 	cgqjax vuqlwph 	 (d)	 j¡xfoKku
	61-	nwljksa ds lkFk çHkkoh lEçs"k.k djus dh fdlh O;fDr 

dh {kerk dgykrh gS]
	 (a) 	vUroSZ;fDrd iquj±puk

	 (b) 	vUroSZ;fDrd rckn

	 (c) 	vUroSZ;fDrd n{krk

	 (d) 	vUroSZ;fDrd lgtrk

	62-	tc vki ¶vU; vfHkfoU;kflr¸ gks tkrs gSa] rks vki
	 (a) 	viuh lR;fu"Bk dks cuk;s j•rs gq, vU; yksxksa 

dh vko';drkvksa] çsj.kkvksa] bPNkvksa ds ckjs esa 
fopkj djrs gSaA

	 (b)	 vU; O;fDr;ksa dks mRlkfgr djrs gSa fd os vki 
dks fn'kk çnku djsaA

	 (c) 	vU; O;fDr;ksa ds lkFk vius laca/ esa ,d fouez 
fLFkfr cuk ysrs gSaA

	 (d) 	 eku ysrs gSa fd vU; O;fDr lnSo lgh gaSA

	 4.	 It facilitates decision making 
		  Select the comoct answer using the codes given below:
		  Codes:
	 (a) 	 3 alone	 (b) 	2.3 and 4
	 (c)	 2 and 3	 (d) 	1, 2, 3 and 4
	 55. 	If in a certain code COMPUTER is written as 

BNLOTSDQ, then which of the following code 
would be written for SOFTWARE?

	 (a)	 RNESVBQD	 (b)	 RNESABQD
	 (c) 	 RNESABCD	 (d) 	RNESVZQD
	 56. 	Select the one which is different from the other three.
	 (a)	 398	 (b) 	579
	 (c)	 885	 (d) 	696
	 57.	 Another name for interpersonal communication is 
	 (a)	 Mass communication
	 (b)	 Dyadic communication
	 (c)	 Triadic communication 
	 (d)	 Permissive communication
	 58.	 In interpersonal communication the functions of 

source-receiver are performed by
	 (a)	 Other individual 	 (b)	 Each individual 
	 (c)	 Third party	 (d)	 Neutral party
	 59. 	A mother is 4 times as old as her daughter and the 

father is 5 times as old as his daughter. The sum 
of mother's and father's age is 135 years. What is 
the age of daughter?

	 (a) 	 10 years	 (b)	 15 years
	 (c) 	 20 years	 (d) 	25 years
	 60.	 Which term is used for communication through 

colours?
	 (a) 	 chromatic
	 (b)	 monochromic schedule
	 (c)	 polychromic schedule
	 (d)	 chronemies
	 61. 	An individual's ability to communicate effectively 

with others is called
	 (a)	 Interpersonal reframing
	 (b) 	 Interpersonal dualism
	 (c)	 Interpersonal competence
	 (d) 	 Interpersonal comfort
	 62.	 When you become "other oriented", you
	 (a) 	 consider needs, motives, desires of others 

while maintaining your own integrity.
	 (b)	 encourage others to give you direction
	 (c)	 take a submissive position in your relationship 

with others.
	 (d)	 assume that others are always right
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	63-	;fn jeu] eksgu ls rst nkSM+rk gS] ysfdu djhe ls rst 
ughaA djhe] lqeu ls rst nkSM+rk gS] ysfdu vfHkuo ls 
rst ughaA dkSu lcls rst nkSM+rk gS\

	 (a)	 jeu	 (b)	eksgu vkSj djhe

	 (c) 	vfHkuo	 (d) 	lqeu 

	64-	leLr voSZ;fDrd lEçs"k.k dk vf/Hkkoh fopkj.kh; 
rÙo gksrk gS

	 (a)	 ykspu'khyrk	 (b)	vewrZrk

	 (c)	 foLFkkiu	 (d)	lanHkZ

	 65-	nks leqPp;ksa A vkSj B ds fy;s A – (A – B) cjkcj 
gS

	 (a) 	 A ∩ B	 (b)	 A – B 
	 (c)	 B 	 (d) 	A ∪ B

	 66.	 fuEufyf•r esa ls dkSu&lk lewg lnL;ksa }kjk çHkkoh 
fu.kZ;&fuekZ.k ds lanHkZ esa gkfudkjd gks ldrk gS\

	 (a)	 pje lalfDr'khyrk

	 (b)	 y{; ds çfr leiZ.k

	 (c) 		bZekunkjh rFkk fo'oluh;rk

	 (d) 	çHkkoh çf'k{k.k rFkk vuqHko

	67-	fuEufyf•r vkadM+ksa

		 25] 33] 72] 65] 29] 60] 30] 54] 32] 53] 42] 52] 
42] 61 42] 48] 45] 47] 46] 33 dh ekfè;dk rFkk 
cgqyd dk varj gS

	 (a) 	 3.5	 (b)	 4
	 (c) 	 2.5	 (d)	 3

	68-	fuEUfyf•r esa ls fdl 'krkCnh esa iQjojh es 29 fnu 
gksaxsa\

	 (a) 	 2213	 (b) 	2300
	 (c) 	 2215	 (d)	 2517

	69-	;fn 10 dehtksa dk Ø; ewY; 08 dehtksa ds foØ; 
ewY; ds cjkcj gS] rks fuEufyf•r esa ls dkSu bl ysunsu 
esa lR; gS\

	 (a)	 25» dk ykHk	 (b) 	25» dh gkfu 

	 (c) 	20» dk ykHk 	 (d)	20» dh gkfu

	70-	fo"ke ;qXe dks pqfu;sA

	 (a)	 cksry & efnjk	 (b) 	xsan & cYyk

	 (c) 	di & pk;	 (d)	?kM+k & ikuh

	71-	,d f=kHkqt dh çR;sd Hkqtk mldh vU; nks Hkqtkvksa dh 
yEckb;ksa ds ;ksx ls 4 lseh- de gSA f=kHkqt dk {ks=kiQy 
(lseh-2 esa) gS

	 (a) 	 2 3 	 (b)	 4 3

	 (c) 	 2 2 	 (d)	 4 2

	 63.	 Raman runs faster than Mohun, but not as fast as 
Kareem. Kareem runs faster than Suman, but not 
as fast as Abhinay. Who runs fastest?

	 (a) 	 Raman
	 (b) 	 Mohan and Kareem
	 (c) 	 Abhinav
	 (d) 	 Suman
	 64.	 An overriding element of consideration in all 

interpersonal communication is
	 (a)	 Flexibility	 (b) 	Abstraction
	 (c) 	 Displacement	 (d)	 Context 
	 65.	 For any two sets A and B. A –(A –1) equals to
	 (a)	 A ∩ B	 (b) 	A – B
	 (c)	 B	 (d)	 A ∪ B
	 66.	 Which one of the following may be harmful in 

terms of effective decision-making by the group 
members?

	 (a) 	 Extreme cohesiveness
	 (b) 	 Commitment for the goal
	 (c) 	 Honesty and credibility 
	 (d) 	 Effective training and experience
	 67.	 The difference of median and mode of the 

following data: 
		  25, 33, 72, 65, 29, 60, 30, 54, 32, 53, 42, 52, 42, 

51, 42, 48, 45, 47, 46, 33 is
	 (a)	 3.5	 (b)	 4
	 (c) 	 2.5	 (d)	 3
	 68.	 In which century February will have 29 days from 

the following?
	 (a) 	 2213 	 (b)	 2300
	 (c) 	 2215	 (d) 	2517
	 69.	 If the cost price of 10 shirts is equal to the selling 

price of 08 shirts, then which of the following is 
true for the transaction?

	 (a) 	 Profit of 25%	 (b)	 Loss of 25% 
	 (c) 	 Profit of 20% 	 (d)	 Loss of 20%
	 70.	  Choose the odd pair.
	 (a) 	 Boule – Wine 	 (b)	 Ball – Bat
	 (c) 	 Cup – Tea 	 (d) 	Pitcher – Water
	 71. 	Each of the sides of a triangle is 4 cm less than the 

sum of its other two sides. Area of the triangle (in 
cm2) is

	 (a) 	 2 3 	 (b)	 4 3

	 (c) 	 2 2 	 (d)	 4 2
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	 72. 	The first step in decision making is to
	 (a)	 establish priorities 
	 (b)	 establish specific goals
	 (c)	 identify and define the problem
	 (d)	 determine courses of action
	 73. 	Two numbers are such that their sum, difference 

and product are in the ratio 5:1:18. The difference 
of their squares is

	 (a) 	 36 	 (b)	 45
	 (c) 	 42	  (d) 	54
	 74.	  If x – 2 is a factor of polynomial x + 4x2 – 3x –18. 

then its other factors are
	 (a) 	 x + 2, x + 3 
	 (b) 	 x – 3, x + 1
	 (c) 	 x + 3, x + 3
	 (d) 	 x + 1, x + 2
	 75.	 That new student says that I am his favourite 

professor and he must be telling the truth, because 
no student would lie to his favourite professor. 
Identify the fallacy involved in the passage.

	 (a)	 Complex question 	 (b)	 Accident
	 (c)	 Petitio principii 	 (d) 	False cause
	 76.	 In a test in Mathematics. 20% of the students 

obtained "First class". If the Data are represented 
by a Pie-chart, what is the central angle 
corresponding to "First class"?

	 (a)	 20°	 (b)	 36°
	  (c) 	 72°	 (d) 	144°
	 77. 	The total number of triangles in the following 

figure:

	 (a)	 15	 (b)	 12
	  (c) 	 13	 (d) 	16
	 78.	 Which factors  inf luence the choice of 

communication partners.?
	 (a) 	 Proximity, utility, loneliness
	 (b) 	 Utility, secrecy, dissonance
	 (c) 	 Secrecy, dissonance, deception
	 (d) 	 Dissimilarity, dissonance, deviance
	 79.	 The length of a parallelogram is 17 cm and its 

width is 11 cm. One of its diagonal measures 26 
cm. The length of the other diagonal

	 (a)	 12 cm	 (b)	 14 cm 
	 (c)	 16 cm	 (d) 	17 cm

	72-	fu.kZ; ysus dk igyk pj.k gSA

	 (a) 	çkFkfedrkvksa dks LFkkfir djuk

	 (b) 	fof'k"V y{;ksa dks LFkkfir djuk

	 (c)	 leL;k dks igpkuuk rFkk ifjHkkf"kr djuk

	 (d) 	dk;Zfof/;ksa dks fu/kZfjr djukA

	73-	nksa la[;k,¡ bl çdkj gS fd muds ;ksx] varj ,oa 
xq.kuiQy 5%1%18 ds vuqikr esa gSA muds oxks± dk varj 
gS

	 (a)	 36	 (b)	 45 
	 (c)	 42	 (d)	 54

	74-	;fn cgqin x3 + 4x2 – 3x –18 dk ,d xq.ku•.M  
x – 2 gS] rks blds vU; xq.ku•.M gSa 

	 (a) 	 x + 2, x + 3 	 (b) 	x – 3, x + 1
	 (c) 	 x + 3, x + 3	 (d) 	x + 1, x + 2

	75-	og u;k Nk=k dgrk gS fd eSa bldk fç; çkè;kid gS 
vkSj mldh ckr vo'; gh lR; gksxh] D;ksafd dksbZ Hkh 
fo|kFkhZ vius fç; çkè;kid ls dHkh >wB ugha cksyrkA

		 x|ka'k esa fufgr rdZnks"k dks igpkfu;sA

	 (a)	 Ny ç'u 	 (b) 	nq?kZVuk 

	 (c)	 pØd	 (d)	feF;k dkj.k

	76-	xf.kr dh ,d ijh{kk esa] 20» Nk=k ¶çFke Js.kh¸ çkIr 
djrs gSaA ;fn nÙk dks ,d ikbZ pkVZ (o`Ùkkjs•) }kjk 
fu:fir fd;k tkrk gS] rks ¶çFke Js.kh¸ ds laxr dsUæh; 
dks.k D;k gS\

	 (a)	 20°	 (b)	 36°
	  (c)	 72°	 (d) 	144°

	77-	uhps nh xbZ vkÑfr esa dqy fdrus f=kHkqt gS\

	 (a)	 15	 (b)	 12
	  (c) 	 13	 (d) 	16

	78-	laçs"k.k çfrHkkfx;ksa dk p;u fdu dkjdksa }kjk çHkkfor 
gksrk gSA 

	 (a)	 lkfUuè;] mi;ksfxrk] vdsykiu

	 (b)	 mi;ksfxrk] xqIrrk] vlaokfnrk

	 (c)	 xqIrrk] vlaokfnrk] Ny

	 (d)	 fo"kerk] vlaokfnrk] foiFku

	79-	,d lekarj prqHkZqt dh yackbZ 17 lseh- gS vkSj mldh 
pkSM+kbZ 11 lseh- gSA mlds ,d fod.kZ dh uki 26 
lseh- gSA nwljs fod.kZ dh yackbZ gSA

	 (a)	 12 lseh- 	 (b)	14 lseh-

	 (c)	 16 lseh- 	 (d)	17 lseh-
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	 80.	 Find out the missing number from the following 
series. 3,5,5, 19, 7, 41,9, ___?___

	 (a) 	 61 	 (b)	 71
	 (c) 	 79	  (d) 	69
	 81.	 The HCF and LCM of two numbers are 12 and 

144 respectively. If one of the numbers is 36, the 
other number is

	 (a)	 4 	 (b)	 48
	 (c)	 72	 (d) 	432
	 82. 	Which of the following decision making technique 

involves structured rules for generating ideas?
	 (a)	 Brainstorming
	 (b)	 Delphi technique
	 (c)	 Nominal group technique
	 (d)	 Ordinal group technique
	 83.	 If radius of a circle is increased in sechs way that 

its circumferencs increases by 10% of circle will 
be increased by

	 (a)	 10%	 (b)	 12%
	 (c)	 21%	 (d) 	24%
	 84. 	The mental function which does help in problem 

solving is 
	 (a) 	 Hypothesis formulation
	 (b) 	 Functional fixedness
	 (c) 	 Insight
	 (d) 	 Mes-end sealysis
	 85.	 The expression 2x3 + x2 – 2x – 1 is divisible by
	 (a)	 2x + 3 	 (b)	 2x + 1
	 (c)	 2x – 3 	 (d)	 2x – 1
	 86. 	Vikas ranks 18th is a class of 49 students. What is  

his rank from the last?
	 (a)	 19	 (b)	 31
	 (c)	 32	 (d)	 33
	 87.	 Statement: Should school education be made  free 

in India?
		  Argaments: 
	 I.	 Yes, this is the only way to improve the level 

of literacy.
	 II.	 No, it will add to the already heavy burden 

on the exchequer.
		  Select the connect anower from the codes given 

below:
	 (a) 	 Only argament is I is strong.
	 (b)	 Only argament is II is strong.
	 (c) 	 Neither argument I nor is II is strong.
	 (d)	 Both arguemnt I and II are strong.

	80-	fuEufyf•r Øe esa yqIr la[;k Kkr dhft;sA

		 3] 5] 5] 19- 7] 41] 9\

	 (a)	 61	 (b)	71

	 (c)	 79	 (d) 	69

	81-	nks la[;kvksa dk HCF vkSj LCM Øe'k% 12 vkSj 144 
gSA ;fn ,d la[;k 30 gS] rks nwljh la[;k gS

	 (a)	 4	 (b)	 48
	 (c)	 72	 (d) 	432

	82-	fuEufyf•r esa ls fdl fu.kZ; fuekZ.k rduhd esa fopkjksa 
dk ;ksxnku nsus ds fy;s lajfpr fu;e lekfgr gksrs gS\

	 (a) 	cq¼;ksÙktd	 (b) 	MsYiQh rduhd

	 (c) 	ukfed lewg rduhd	 (d)	Øfed lewg rduhd

	83-	;fn ,d o`Ùk dh f=kT;k esa o`f¼ bl çdkj gksrh gS fd 
mldh ifjf/ esa 10» dh o`f¼ gks tk;sA o`r dk {ks=kiQy 
fdrus çfr'kr c<+sxk\

	 (a)	 10»	 (b)	12»

	 (c) 	21»	 (d)	24»

	84-	og dkSu&lh ekufld çdk;Z gS tks leL;k lek/ku esa 
lgk;d ugha gksrk gS\

	 (a) 	ifjdYiuk fu:i.k

	 (b) 	izdk;kZRed fu:i.k

	 (c) 	vUrnZ`f"V

	 (d) 	 lk/u&lkè; fo'ys"k.k

	85-	O;atd 2x3 + x2 – 2x – 1 foHkkT; gS
	 (a)	 2x + 3 ls	 (b)	 2x + 1 ls

	 (c)	 2x – 3 ls	 (d)	 2x – 1 ls

	86-	fodkl 49 Nk=kksa dh ,d d{kk esa 18 osa Øe ij gSA 
vkf•jh ls mldk Øe D;k gS\

	 (a)	 19	 (b)	 31
	 (c)	 32	 (d)	 33

	87-	dFku% D;k Hkkjr esa Ldwyh f'k{kk dks fu%'kqYd dj nsuk 
pkfg,\

		 rdZ%

	 I-	 gk¡] lk{kjrk ds Lrj dks lq/kjus dk ;gh ,dek=k 
mik; gSA

	 II.	 ugha] vkfFkZd <k¡ps ij igys ls gh Hkkjh cks> 
vkSj vf/d c<+ tk;sxkA

		 uhps fn, dwV ls lgh mÙkj pqfu,%

	 (a)	 osQoy rdZ I çcy gSA

	 (b) 	dsoy rdZ II çcy gSA

	 (c) 	u rh roZQ I vkSj u rdZ II çcy gSA
	 (d) 	nksuksa rdZ I rFkk II çcy gSaA
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	 88. 	Ratan is 40 metre South-west of Pawan. If Lalan 
is 40 metre South-East of Pawan, then Lalan is in 
which direction of Ratan?

	 (a)	 West	 (b)	 North-East

	 (c)	 South	 (d)	 East

	 89. 	Which one does NOT belong to the following 
group?

	 (a)	 Eyes	 (b)	 Ear

	 (c)	 Tooth	 (d)	 Chin

	 90. 	What is the median of the numbers 4.6, 0, 9.3, –4.8, 
7.6, 2.3, 12.7, 3.5, 8.2, 6.1, 3.9, 5.2?

	 (a)	 3.8	 (b)	 4.9

	 (c)	 5.7	 (d)	 6.0

	 91. 	The essence of decision making is
	 (a) 	 Problem solving

	 (b) 	 Choosing between alternatives 

	 (c) 	 Developing alternative course of action

	 (d) 	 Monitoring

	 92.	 The following Pie-chart shows daily hourly 
distribution of various activity (in degree) of 
student. How much time (in %) does he spend in 
game in comparison to sleeping?

Game 
30°

	H
om

ew
or

k 
45

°

	 Sleeping 
120°

School 
105°

Others 
60°

	 (a)	 10	 (b) 	20

	 (c)	 25	 (d)	 30

	 93. 	The study of temporal communication is known 
as

	 (a)	  Proxemics	 (b) 	Kinesies

	 (c) 	 Paralanguage	 (d) 	Chronemics

	 94. 	Consider the following statements:
		  There are six villages A, B, C, D, E and F
		  F is 1 km to the west of D
		  B is 1 km to the east of E
		  A is 2 km to the north of E
		  C is 1 km to the east of A
		  D is 1 km to the south of A

	88-	jru] iou ds 40 ehVj nf{k.k&if'pe esa gSA ;fn yyu] 
oj ds 40 ehVj nf{k.k&iwoZ esa gS] rks yyus] jru ds 
fdl fn'kk esa gS\

	 (a)	 if'pe 	 (b) 	mÙkj&iwoZ

	 (c) 	nf{k.k	 (d)	iwoZ

	89-	fuEufyf•r lewg esa dkSu&lk buesa ugha gS\
	 (a)	 vk¡•	 (b)	dku

	 (c)	 nk¡r	 (d)	Bqîóh

	90-	la[;kvksa 4-6] 0] 9-3] µ4-8] 7-6] 2-3] 12-7] 3-5] 
8-2] 6-1] 3-9] 5-2 dh ekfè;dk D;k gS\

	 (a)	 3-8	 (b)	4-9 

	 (c)	 5-7	 (d)	6-0

	91-	fu.kZ; {kerk dk lkj gS
	 (a)	 leL;k lek/ku

	 (b)	 fodYiksa ds eè; p;u djuk

	 (c)	 oSdfYid fØ;kfof/ dks fodflr djuk

	 (d)	 vuqJo.k

	92-	fuEufyf•r ikbZ pkVZ ,d fo|kFkhZ dh çfrfnu fofHkUu 
fØ;kvksa esa O;rhr le; ds ?kaVks dks (fMxzh esa) n'kkZrk 
gSA ;g lksus dh rqyuk esa •syus esa fdruk le; (» 
esa) fcrkrk gS\

•sy 
 30°

x`g
d
k;
Z 

45
°

lksus eaas 
120°

Ldwy 
105°

vU;
60°

	 (a)	 10	 (c)	 25
	 (b)	 20	 (d)	 30

	93-	dkfyd lEçs"k.k dk vè;;u tkuk tkrk gSA
	 (a)	 çksDlsfeDl ds :i esa 

	 (b) 	dkbusflDl ds :i esa

	 (c) 	iSjkySaXost ds :i esa 

	 (d)	 ØksusfeDl ds :i esa

	 94-	fuEufyf•r dFkuksa ij fopkj dhft;s%
		 A, B, C, D, E rFkk F N% xk¡o gSa
		 D ds 1 fd-eh- if'pe esa F gS 
		 E ds 1 fd-eh- iwoZ esa B gS 
		 E ds 2 fd-eh- mÙkj esa A gS
		 A ds 1 fd-eh- iwoZ esa C gS
		 A ds 1 fd-eh- nf{k.k esa D gSa
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		  Which three villages are in line?
	 (a) 	 A, C, B	 (b)	 A, D, E
	 (c) 	 C. B. F	 (d) 	E, B, D
	 95.	 The sum of the three prime numbers is 100. If one 

of them exceeds another number by 24, then one 
of the other number is

	 (a)	 7	 (b)	 29
	 (c)	 43	 (d)	 61
	 96.	 The Golden Rule is basic to every system of ethics 

ever devised and everyone accepts it in some form 
or other. It is, therefore, undeniably sound moral 
principle.

		  It involves the fallacy of
	 (a)	 Argumentum ad Populum
	 (b) 	 Argumentum ad Verecundiam
	 (c)	  Argumentum ad Misericordiam
	 (d) 	 Argumentum ad Ignoratiam
	 97.	 Which one of the following is NOT a rule for 

estimatings the subiective probability of outcomes 
of any decision?

	 (a)	 Assessing utility
	 (b)	 Representativeness
	 (c)	 Availability
	 (d)	 Adjustment
	 98.	 The Argument
		  All Indians are religious.
		  All Painters are religious.
		  All painters are Indians.
		  It involves the fallacy of:
	 (a)	 Division
	 (b)	 Existential
	 (c)	 Undistributed middle
	 (d)	 Four terms
	 99. 	If in a certain code 'DATE' is written as WZGV', 

then which of the following code would be written 
for "COME?

	 (a) 	 XLNV	 (b) 	LXNV 
	 (d) 	 XLVN	 (e)	 VNXL
	100.	 What X in second figure?

119 174 184
X 2318 2417 21

	 (a) 	 26	 (b) 	27
	 (c)	 28	 (d)	 29

,d drkj esa iM+us okys rhu xk¡o dkSuls gSa\
	 (a) 	 A, C, B	 (b)	 A, D, E
	 (c) 	 C, B, F	 (d) 	E, B, D

	 95-	rhu vHkkT; la[;kvksa dk ;ksx 100 gSA ;fn muesa ls 
,d] la[;k nwljs ls 24 vf/d gks] rks muesa ls nwljh 
la[;k gS

	 (a)	 7	 (b)	 29
	 (c)	 43	 (d)	 61

	96-	xksYMu :y & loksZÙke fu;e&uhfr'kkL=k dh gj iz.kkyh 
eas fufgr gksrk gS vkSj gj vkneh fdlh u fdlh :i 
esa Lohdkjrk gSA vr% ;g vdkV~; :i ls LoLFk uSfrd 
fl¼kUr gSA

	 (a) 	yksdksÙkstd	 (b)	J¼kewyd

	 (c) 	n;kewyd	 (d) 	vKkuewyd

	97-	fuEufyf•r esa ls dkSu&lk ,d fdlh fu.kZ; ds ifj.kke 
dh O;fDrfu"B laHkkO;rk ds vuqeku dk fu;e ugha gS\

	 (a)	 mi;ksfxrk dk vkdyu

	 (b)	 çfrfuè;kRedrk

	 (c)	 miyC/rk 

	 (d) 	vfHk;kstu

	98-	;qfDr

		 lHkh Hkkjrh; /kfeZd gSA

		 lHkh isaVj /kfeZd gSA

	 ∴	lHkh isaVj Hkkjrh; gSA

		 blesa fufgr rdZnksx gS%

	 (a)	 foxzg

	 (b)	 lÙkkRed on

	 (c)	 vO;kIr eè;e in

	 (d)	 prq"inh

	99-	;fn fdlh fuf'pr dksM esa 'DATE" dks "WZGV' 
fy•k tkrk gS] rks fuEufyf•r esa ls fdl dksM dks 
"COME" ds fy;s fy•k tk ldrk gS\

	 (a) 	 XLNV	 (b)	 LXNV
	 (c)	 VNXL	 (d)	 XLVN

100- nwljs fp=k esa X D;k gS\

119 174 184
X 2318 2417 21

	 (a) 	 26	 (b)	 27
	 (c) 	 28	 (d)	 29


